
 NEXUS Revo-Shift Lever   (For 8-speed)

SB-8S20
SB-8S20-A

SHIMANO
CODE NO.

DESCRIPTION

1 Y6J398010 Indicator Cover & Fixing Screws (M3 x 5)
2 Y6J398030 Upper Cover & Fixing Screw (M3 x 5)

Y8TS98010 Adjustment Block &  for SB-8S20
* Y8NL98010 Adjustment Block &  for SB-8S20-A

4 Y8S898010 Brake Cable Adjusting Bolt (M10 x 19) & Nut
5 Y89E05010 Reach Adjusting Screw (M4 x 10.8)
6 Y61W98030 Cable Adjusting Bolt Unit
7 Y8SB10000 Clamp Bolt (M6 x 14.8)
8 Y6J304000 Shift Actuator (Black)
9 Y61X14010 Half Grip (ø22.2 mm / Black)
10 Y60098510 Inner Cable Box (Stainless / 100 pcs.) for Shift
11 Y6Z298100 SIS-SP40 Outer Casing (Black) for Shift
12 Y62098030 Inner End Caps (ø1.2 mm / 100 pcs.)
13 Y6Z298010 SIS-SP40 Sealed Outer Caps (Revo-Shift Lever Side / Black / ø6 mm /100 pcs.)
14 Y6Z190010 SIS-SP40 Sealed Outer Cap (Cassette Joint Side / Silver / ø6 mm)

A: Same parts. Oct.-2015-2238A

B: Parts are usable, but differ in materials, appearance, finish, size, etc. © Shimano Inc. I

Absence of mark indicates non-interchangeability.

Specifications are subject to change without notice. 28MX1000000-6101-000

28MX2000000-6101-000

ITEM
NO.

3

V
C  R

10 m / 32.8 ft.1.2 mm 2000 mm

(100 pcs.)

1.2 mm

(100 pcs.)

1.2mm

SHIMANO 

TOTAL

INTEGRATION

INNER CABLE

SHIMANO 

TOTALINTEGRATION
INNER CABLE

2000mm x100pcs

SERVICE INSTRUCTIONS
SI-SP36B

Notes:

SI-SP40

MARK

Outer Casing

Before useread these instructions carefully, and follow them for

correct use.

This outer casing is specially designed for an inner

cable of 1.1 mm in diameter; it can not be used for

an inner cable of 1.2 mm in diameter

cable of 1.1 mm in diameter

s
inner

Shimano SIS^SP36 outer casing in bulk packaging 

is not greased internally. You must install grease i

nside the outer casing or cable resistance will resu

lt in poor shifting quality.

Install the SIS-SP36 sealed outer cap ( sold separ

atery )to the rear derailleur side of the outer casing.

10 11 12 13

14

1

2

3

4

5

6
7

8

9


